K-4.1

K-4

o .
= GE'GLT|SL'ELT|S9ELT——09'T|0L'T 6/.'/£0+0
[{e]
~
%% £
o — o .
S 2 [0ovLTjeseLIferesT S vST|v9T|.8'26L{E0¥20+0
Blso ©
- | =0 1]
o | S|0c -
S & & [LTELTLS TLILY TLT 09T | 0L T [-1'6LL {07 ETO+0
o|0Z2 <)
S [0 ™~
% 5
o
> W L¥'22T[08°02T|69°02THH 89T |82T 00°000+0
3
g
T T T T T
o o =] o o =] o Q o o o o =] o o =] o 3
(o) Lo < [42] (9] — o (o)) [e0] N~ (o] Lo < (42] [V} — o [0
3] <o) o] o] [oe] [oe] 9] N~ N~ N~ N~ N~ N~ N~ N~ N~ N~ =
— — — — — — — — — — — — — — — — — -—
= 5
2 = ©
KS) = c
8 = 2 g o
= 1Y ol o ® o @ o Qo
S ol © || a| © > o 0| S| ©
S Eleolel=-|ls | sl = =213l €] §
- al, G| = © = < © | © = c
o oO|lg|=| & c o I3 o S
= Slol= Ll sl e8| 8|lw|a|a| £ ©
= Llel|s| & o [S) o | &l 3|5 o S
Sl =Eal=s| x 2 Y |loo|lala| T n
m 17" 08T|69'8.T|6G'8.T——G.'T|S8'T €6°,/.G+0
[{e}
o
o
N
o
=} ]
mv g
Kp} N .
= O 0€'8.T|2L'SLT|29'SLT| oi [852(89°2|.2¥8L|L8 8YS+0
— — = Q
© o\ @ o S o o )
o) [To) <t — — o Te] . . . N . . . .
o © s P~ ~ S — 0E'8LT[CL'SLT|2Y'SLT| o |857C|89°C|.C'¥8)|L8'87G+0
n
N
<,
<
N
< .
S L6'VLT|22 €LT|2T €LT—— S T|S8'T |.L'28L|GY 72G+0
N~
(32}
o
N
[a2] .
S — €9'ELT|L6 TLT|L8'TLT 99'T(92'T(.9'161{80°C0G+0
[e0]
(2]
S
N S
>
~ 3
S = LY'TLT|08'0LT|69'0LT| © 89T [8LT|.9°€12|0T T8Y+0
P 2
S 00°Z.T[e€0LT[€Z 0LT L9T|LLT|oLVLLTB CLY+0
[0}
Q
<
—
o .
S — SZ'T.T|0S'69T|0V 69T GL'T|S8'T|.€LLLIEG LGY+0
[{e]
N
0
—
o Z2°0LT|8%7'89T|L€89T—— G2'T|S8'T .S €LL{L9 6EV+O
8
o
xR ZS'69T|69°29T|6S5°29T €8'T|€6'T|.09.1[C9°82F+0
[o0]
|
<
—
5 GS'89T|89°99T(85°99T 18T|L6'T|.C69L[Y YTY+0
o
o
8 — 06°/9T|66°G9T[88°59T T6'T|T02|.202L[69 V0V+0
q 2
o ®
4 ;
i L0°/9T|LT°S9T|20°S9T| ~ [06'T|002|.8°99L(L2 E6E+0
3 n
o
S S — ¥ 99T|TS PIT|TH V9T 06'T[00¢|.0891l[76°E3E+0
051 Na OAd elio fouinsez n poaoulid )
0L} N@ wopoaould s eiopje|oy 8luezuy - £0'GLE+0 9 °
o
— — E— — ———— a———— b =
o\ © 9., © © 9o 9 ©o ©o o 9 9o o9 o o 9 o
o) S e < 5 o —t = T 5 _, «© 65 ~ S — T¥'99T(TS VOT|TY ¥9T 06'T[00¢|.0891l[76°E3E+0
00 N~ [ N~ N~ N~ N~ N~ N~ N~ [{e] [{e] © © © ©
d — — — — — — — — — — — — —
¢ a
N
S L8'¥9T|TO€9T(T6'CIT L8T|L6'T|.816L[V8C9E+0
&
S
N 86°€9T|€2 29T|€T 29T—— S2'T|S8'T [,8°06L[T6' TGE+0
v
S
P vv €9T|TL TIT|T9 TIT €L T|€8'T|.6V8L[OE TYE+0
—
N
& o
N 2
(&}
@
[ce]
S 0E'Z9T(8S'09T|8Y'09T| ¥ |24 T|28'T .£'G8L[GT 8TE+0
Lo
o
~
N
o
o
Z
D mm TO'T9T|SZ'6ST|ST 6ST——{SL'T|S8°T|.9V6L[0T T6Z+0
0o
D0
Dn3
oz
Naa
—
(42}
o
<
———— ] P 90'8ST|60°9ST(86'GST 86'T|80'¢|.€'98L6.°6%C+0
N~
N 8
N S
< N
©
N~
il
3 % TL¥ST|98°2ST|92°2ST G8'T|S6'T (.806L (€L L0C+0
o
Q
O v
Lo
- N
N
Lo
— T T T —
= o ) o o =] o Q o o o Q o o o =] N
N~ (o) Ko} < [9V] — o (@] (o] N~ (o] Yo} <t (32] Al — o~
(O (o) (o] [(e] (o] © © Te) Te) K9} K9} L0 Te) Te) Yo} Yo} 0o
— — — — — — — — — — — — — — — —
g o — 09°0ST(G8'8VT|G. 8V T—— GL'T|S8'T |7 0L2[TG'SGT+0
[{e]
o
N~
N
B R 9z LYT|TC’ SYT|TT ST S0z |ST'2|.968L[7'8CT+0
o
©
~
(42}
mv S T8 TYT|9T0¥T|90°0VT| 8 |S9°'T|SL'T .2 08L [78°060+0
[oe) o]
™ ™
- >
T T T T T =
=] o o o X o Q o o o Q o o o =] o Q
L0 <t [ap] N o (o)) [e0] N~ (o) Lo < (9p] A — o (@]
0 ) Lo 8 = SIS b s s s e s s s 9 3 T8 TYT|9T0¥T|[90°0VT| .8 |S9°'T|SL'T .2 081 [78°060+0
& &
— >
i
=
0
(a2}
3 B €8'9€T|9e°SET|S2 GET 87'T|85°T|.88.L{/0°GG0+0
—
(42}
0
N
P 79°€ET|S6 TET|S8 TET 69'T|6.T|.959L[G. 620+0
1A8f1o [oupisez n afioelejsulopial] ™
ewelioe[ejsulopale s eiopa|oy aluezuy - 6G°210+0 ™
N~
—
ww 0G| Na Aslio DA euiisez
WOPOAOPOA S BIOPIB[0Y Sluezuy - //'800+0 | = 29'TET|C9'62T(C5 62T 002 | 0T°2 |.£'95L [CV'CTO+0
* g 2
N N~
ONMO 303ro1Sod VN rods o — ~ .
> S €0'TET|€0'62T|€6'82THL-{ 002 | 0T 00°000+0
&
g
T T T T T I|I|.J|"
© © © 9 o © © © 9 o o o 9o 9o o o o9 o
Lo < o) N — o (o)) [ee] N~ O Lo < ™ (V] — o (@) @©
< < < < < < ™ ™ ™ (40] [9p] [9p] [9p] (30] (30] (90] [qV} =
— — — — — — — — — — — — — — — — — —
= E
2 = ©
© = c
8 ol = e g o
d < S| e o | S © = o
g g|gig|lsle|m| 8 2181 E| g
e S > © > = [ © © [ c
= (S m = = c © = = o o
= SlolE 8| & | &s| &8 |s|B|5]| £ S
= Ll & o o o |®|l 3| = S i)
S|l =EAal=s| x & Y |lao|lala| n

K-6

K-5

g =5l _|Eg|Eg = 2
. 2lE - c .= = ~
& i AE S| EE| &2 S N S
322 D | e |2 S g < | 8
E2EE N [Z2w | Lw S < o) o
EESZ2 2|23 8% S & |z -
2E o -], 8 =28 - [2 QI B%
= 2 82 a|85|55 “ k7 £ N
E S O |=m | wm .. - 3 =
3 3 z S5c|ze = z g g
s |& wi |EF z 35 = = o
kS < Z sl S 2 S 2 I ™
~N = v v a ) oo o
33 | w3 g | = =
X |'N x =5 © LS o f
w2 | B3 = oh a7} O o
= [y @ o d S © I
S Mo l|ZToe o 2 on o o
() X £ | wL [ S £ £ =]
3 |=E8|x= o a3 | oh T
x w=> 5> =z 5 < = & I} o
- | ¥s|Cw N < m, 2 ™~ m, o
2 Lo |<w ) L 1 < ™~ 0 1
2 |gs |NS o S |® = 7)) 3 %)
0 =z I =] N 4 > > - ) >
o o> u = (<= =] o m =] o = ¥
° Sa [Je|Zve 5 | Z ” 2 o
23 |3E|3¢ 2 |5 ¢ £ E £
g O | we s & s | < O]
5§z |$ 2 4 - £ N\ p 4
o = |z & s 9]
< W W w X ~ B M
z a3 26/ |x¥x® = -y
[P z 5@ s < X -
: s |go|oo S 9. i~
o < 2R [([E2E3 |23 . =328 ..
g = i T & S=2id £
O« & = = m $lok Z < & N.u \ &
o T8N 8s |a=|5= £ XL E2E-X =
2l 1z 29588 [ES |z |2 s |5 3893 . |8
2l B 283k ECE T |y e 2 f2id |2 |2
3 |8 388a : 12 |5 |B E 3 |z
2 585 g & ! 3 > |& 2 8
© .
S GG'€8T|08'T8T|0L T8T——SL'T|S8'T 9G°0TZ+0
]
o | S
S 20'e8T|Er T8T|EE T8T 857|891 (,008L|00°00Z2+0
© g
Q o
g g
11
< - .
R 7€°¢8T|9.°08T(99°08T LST|29T[.082L[76°08T+0
2
™
™ —
S €0°¢8T|82'08T|8T' 08T SL'T|S8'T|.G99L[EC L9T+0
N
[ee]
1)
—
I3 .
S G8'T8T(6T 08T{30°08T L9T|LLT|.0LLLIBETST+0
3
[ce]
o ©
~ 1l
S I
™
—
S = €6°'T8T|00°08T|68'6.LT €6'T|€0C|.L25L|189'02T+0
< o
o ;o 8 .
s 1o |12 I8T|96'6.T ow.mﬁumu SLT|G8T|.6'LELILCVTTHO
B &
(o)) o A .
0 mm T9°'08T(96'8.LT ow.wma% SOT|SLT|.L€ELTGGOT+0
58 Y
52 3
0|25 =
0 B
N N
ik
© .
S0 00 VLT(9C CLI|9T CLT— VL' T|¥8'T |- ¥81{99°6.0+0
) o o o o o o-Y o o o o o o o o o © .
S i < S o5 = = < 5 < — ~ = S 0 00¥2T|92°2LT[9T CLT— VL T|¥8'T|.2¥8L(99°6.,0+0
60 0 o) 0 © ® ~ ~ ~ ~ N~ ™~ N ~ N~ ~
| — — — — — — — — — — — — — — — °
© &
ww oG NG A8fio OAd euisez < «©
WOPOAOPOA S BIOS|0Y aluezuy - 977590 4 % o
ik
N~ .
™ — 00°'0LT|VC'89T|YT 89T——9L°T|98'T [} 202|8T €S0+0
ww 0G| N@ Adlio DA eulisez -
WOPOAOPOA S BIOS|0Y aluezuy - 8/°/¥0+0 ¢ 2
2 3
5 ®
N N
ik
© .
O 0S'¥9T|T8'C9T|TLZ9T——69°T|6L°T|.c'88L(6L°L20+0
g 2
iy o
©
Ko} 1
D o 00°€9T|87' TIT|8E ' TOT| — [2S'T|29T(.£€2L{8BT 900+0
ONMO 3Q3rolsod VN rods o < o
’ . ) © 0S'¢9T|0T' TIT|00' TOT—— OV’ T|0S'T 00°000+0
3
—
I I = I ———
< Q Q Q Qe Qe Qe Qe Q Q < Q Qe Qe Qe < < 3
~ © To) < ) I - o o 0 N~ © o) < ™ o 1 @
~ ~ ~ ~ N ™~ ™~ ~ © © © © © © © © © =
— — — — — — — — — — — — — — — — — o ——
3. 2
‘© c c
8 | &= & g o
= o ol S o | 8 @ - k)
S o/ Slg|le|l =| | © 2| 2| € ©
ol SO w® = = c = = i
o S0 |s|l=| & | | s | @ 5 S
! Sl oSl @ © © © s| 5| N S
M [75) —= -— -— -— e o o = o
cl eSS o o Q ©| > =] o +5
> = 1Al = e e Y |l A A I n
™ .
® 70'¥8T|6€¢8T|6C 28T S9'T|GL'T 6.°6GE+0
N
o
<
™
N .
0 €9°'¢8T(98'T8T(9. 18T LLT|18T|.528L|LL'GZE+0
N
[oe]
~
—
— 8 .
® - 79°€8T|8S T8T|87 ' T8T W 90|91 (.8'161|96°L0E+0
© w0
o |m® v .
™ GG'e8T|SP T8T|VE 18T| u |0T'2|02'2|.1 28} |7E 662+0
1naM1o [ouyisez n alloejeisulonys|3 —
ewefloe|e)jsuloipiale S BIOPBI0Y Blueziy - 80'68Z+0 e
A ©
A4 —
o .
N TO'€8T|6T T8T|60'T8T 281|261 (.£68L|1€CEBZ+0
N
o <
b ;
© .
N 7 N — 29'28T(,6°08T|.8'08T— S9°'T|SL'T|.029L[T8°892+0
— — o2}
~ | ®
[o0] .
— — 8 o 70°28T|C¥ 08T|TE 08T €9T|ELT[.98G1|c7'09Z2+0
= - O. Qe e e e Q O. < Qe Q Qe Qe Q Q N | . . . . . . .
= = = S o I % o = S o) o < © ™ o 70°28T|¢y 08T|TE 08T €9T|€LT|.985)|Ct'09¢+0
© - .
— S| S| S| S| = = = = = = = = = N l%l 78'T8T|L008T(L6'6LT LLT|88T|.89GLIET'GGC+0
o o
Te] R .
N L2 vy T8T|ES'6LT|EV'6LT| &5 [T6'T|T0°C|.5'89L|G0°LYC+0
3
1
o il
Te]
~
[V}
< .
Q — ¢v'6LT|CL LLT29 LLT—— 0L T |08 T (.1 98L[CS 6TZ+0
Lo
™
©
—
™ .
! Q — 6T LLT|9V'SLT|9€'GLT €LT|€8T|.£26L9T €0C+0
7|8 2
N = )
™ ANn 5 >
E3 o
Qo -
i}
V] @™ .
N nKV m 0T'€.T|660LT|68°0LT T12|122|.069L19L°0.LT+0
n
™
o
N
— .
H = N — €8'69T|8T'89T|80'89T—— S9'T |SL'T .S V210" 0OGT+0
I I = >
-} o > = } e = = = = = = - o — = N €8'69T|8T'89T|80'89T—— S9'T |SL'T .5 V210" 0OGT+0
™ N — o 0 © To) < ™ I\ - o o 0 N~ A
60 © © 0 N~ ~ ~ ~ N~ ™~ ™~ ~ © © ©
| — — — 1 © — — — — — — — — — — — o
- S
e}
3 S
% ©
N —
ik
o .
N TS 99T|L8VIT[9L VIT—— SO T |SL'T [.£20L|6L TCT+0
Ln
©
g
o 0Z'¥9T|0T ¥9T| . j08'T|06'T
= 00°99T|9T¥9T|90'V9T| & [¥8'T|¥6'T |5 LLLIFPT SOT+0
o R
s R
3 I
© .
i — 81°'G9T(85°€9T|8Y'E9T 06'T|00C|.£€LL|PL'060+0
®
a
N~ .
g = 88'79T|ET'€IT|E0EIT—{SL'T| 98T |.+'002(LE6LO+0
- 3 mfv
[{e] . .
Vlu = ¢ YTv9T|ST'29T(S0'CIT| Iy (66'T|60°C|.9ViC 69°'T.0+0
o ~—
o) ; .
Wﬁ = 2 9Z°€9T|92 TIT|9T TITH 002 | 0T'2 |-+ V6L (€L ¥790+0
< o
< R
2 :
< 23
) ﬂ e LY TOT|09°6ST|0G'6ST| 1L |28 T[26'T|.919L[6L 7170+0
o
™ .
R S - |[v809T|e6'8ST(28'8ST— T6'T [20°Z |o£L9L|7 L 9EO+0
2
N~ (e}
(2] o
o0 o
N [ce]
ik
o S .
WW S} NG A8l0 DA BUIISEZ = 9€'8ST|T9'9ST om.@meu SLT|S8°T[.5894|LL°L00+0
WIOPOAOPOA S BIOPIS|0Y dluezuy - 6/°000+0 o o ™~ 2
x o = T0'8ST|TZ'9ST|TT 9STH2H 08'T|06'T 00°000+0
ONMO 3Q3rolsod VN rods % — L
g
— — B — —h
< S Q Q Q < Q Qe Q Q < Qe Qe Qe Q Q Q 3
I - o o 0 N~ © o) < ™ o — o o 0 N © @
N~ N~ ~ © © © © © © © © © © ITe) Yo ) O =
— — — — — — — — — — — — — — — — — —
= >
3, = ©
‘© < c
8 o &= & g o
= o ol S o | 8 @ - 8
S o| 8|5l e & | @ o 2| 2| = ©
S 2 o0|8l=| &| @ | = gl 2| = ]
ol SO w® = => c = = i
o S0 |s|l=| & | | s | @ S S
— Slo|lE| 8|l s | 8| & |w|B|B| 2 S
= n El3| & o ° ) S| > = o S
> = 1Al = x x Y |l A A I (7p]




